StanleyBlack&Decker

ESMERILHADEIRA ANGULAR 600W 220V

Posicao Peca Referéncia Qtde Garantia da peca / Meses
1 5140171-41 | PORCA 1 24
2 5140171-43 | FLANGE DE APOIO 1 24
3 5140166-38 | EIXO 1 24
4 5140165-27 | GUARDA 1 24
5 5140164-84 | PARAFUSO 5.8X22.5mm 1 24
6 5140164-85 | PARAFUSO M4X11.5mm 4 24
7 5140171-45| TAMPA DA CAIXA DE ENGR. 1 24
8 5140164-87 | ROLAMENTO DE ESFERAS 1 12
9 5140164-89 | ANEL TRAVA 1 12
10 5140171-46 | ENGRENAGEM 36 DENTES 1 24
11 5140164-91 | ROLAMENTO DE AGULHASHKO 8104YD| 1 12
12 5140171-47 | CAIXA DE ENGRENAGEM 1 24
13 5140171-48 | PARAFUSO 5X19.5mm 4 24
14 5140171-49 | BOTAO DO PINO TRAVA 1 24
15 5140164-94| MOLA 1 12
16 5140164-92 | PINO TRAVA DO EIXO 1 24
17 5140164-97 | PORCA M5 1 24
18 5140171-50 | PINHAO 11 DENTES 1 24
19 5140171-51 | ROLAMENTO 608RS 1 12
22 5140171-54 | ANEL TRAVA 1 12
23 5140171-82 | CONJ. ROTOR 220V 1 24
24 5140171-56 | ARRUELA DE ISOLACAO 1 24
25 5140171-57 | ROLAMENTO 606Z 1 12
26 5140171-58 | DEFLETOR 1 24
27 5140173-23 | PARAFUSO 3X9mm 4 24
28 5140171-59 | ESTATOR 220V 1 24
29 5140171-61 | BOTAO LIGA E DESLIGA 1 24
30 5140171-62 | ETIQ. ESPECIF.STGS6115-B2 TIPO 1 1 12
31 5140171-66 | CAIXA DE CAMPO 1 24
32 5140171-67 | ALAVANCA DO INTERRUPTOR 1 24
33 5140171-68 | MOLA 1 24
34 5140171-69 | TAMPA TRASEIRA 1 24
35 5140155-81 | PARAFUSO 3 24
36 5140171-70 | PAR DE ESCOVAS DECARVAO 220V 1 12
37 5140171-71 | MOLA DO PORTA ESCOVA 2 24
38 5140171-72 | PAR PORTA ESCOVA 2 24
40 5140171-73 | INTERRUPTOR 1 24
41 5140171-74 | PRESILHA DO CABOELETRICO 1 12
42 5140171-75| PROTETOR DO CABOELETRICO 1 12




43 | N4s54998 | cABO ELETRICO DW300B2/BR SC 1 12
43 | 5140171-76 &ﬁgf;ﬂ;ﬂ%% 1098 1 12
44 | 5140171-78 | CHAVE 2 PINOS 1 24
45 | 5140155-63 | ARRUELA 1 12
47 | 5140164-96 | EMPUNHADURA LATERAL 1 24
302 | 5140171-82 | CONJ. ROTOR 220V 1 24




